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AR _ 42372 21,253 21,119
HRAFEEAO 41,545 20,896 20,649
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Hi il FEREX HESF HEH Bt arhE | BHEE
AR 3,391 2,910 2,769 2,456 1,202 4641 2,451 594
] 1,709 1514 1,377 1,250 610 2,342 1,151 273
S 1,682 1,396 1,392 1,206 592 2,299 1,300 321
i 1,276 1,124 1,014 993| 462 1685] 991 272
8BS i EAE [HEFMERERAMBIE] iLE fif=ka EBE LU
AR 3,317 2,290 3,089 1,273 1,162 3,350 1,215 4246
] 1,687 1,101 1,551 623 585 1,678 598 2,157
i 1,630 1,189 1,538 650 577 1,672 617 2,089
s 1,228 878 1,149 543 501 1,296 496 1,458
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S 1,605 1,150 1,526 586 529 1,627 608 2,046
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E-S 36 14 8| 30| 23 7] 6 26
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AR 45 47 21 110 105 56 13 57
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